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ZIMMER 3
BF18.14 m?

ANKLEIDE
BF5.76 m?

TREPPENHAUS
BF18.48 m?

R.B. +8.53

EINGANG

BF8.83 m?
REDUIT 4. Obergeschoss 47 - 4.10 47-49
BF5.64 m* 3. Obergeschoss 47 -3.8 47 - 3.7
2. Obergeschoss 47-26 47-25
KUCHE 1. Obergeschoss 47-14 47-1.3
BF10.18 m? Erdgeschoss 47-0.2 47-0.1
\‘\ @ Untergeschoss
H 47-3.7 4 BALKON N
I 4", Zi-Whg BF12.69 m2
I BF131.63 m?
v BALKON WOHNEN
BF26.55 m2 BF41.32 m2
Wohnung 47 - 3.7
3. Obergeschoss | 4% Zimmer
Nettowohnfléche 131.6 m?
Balkonflache 39.2 m2
“‘\\ ZIMMER 1 ZIMMER 2
BF13.28 m? BF13.44 m?
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